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CHEMISTRY SSC-I
SECTION — A {(Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

() What is the mass of FOUR moles of Hydrogen (H,)gas?
A, 1g B. 10 g C. 8.064 g D. 2016 g
(i) ‘M' sheli of an atom has the following sub-shells:
A 25, 2p B. ls, 25, 2p C. 35, 3p, 3d D ls, 25, 3%
(i Which one of the following elements betongs to Group 11 A of the periodic table?
A. Mg B. K C. Al D. Si
(iv) Which of the following molecules has triple covalent bond between its atoms?
A H, B. N, C. O, D. F,
(v} Bromine has melting point of —7°C and boiling point of 59”C" . What is the physical state of
Bromine at 100°(" ? '
A Gas B. Liquid C Solid D Can not be predicted
{vi) A student mixed a solute in a solvent and made a mixture. After 15 minutes, he/she chserved that solute

has settled down. He/she will call this mixture as:
A True solution ‘ B. Colloidal solution

C. Homogeneous mixture D. Suspension

{vip) Which element is reduced in the given redox reaction?  ZnC+H, —» Zn+ 11,0
A fH, B. Zn0 C. ez ' D. O

i) The exidation numbers of Cr in Cr,0; and K,Cr,(; are:

A +4 and +7 B. +6 and +2 C. +2 and +2 D. +3 and +6

(ix) Which of the following oxides is utilized in breathing equipments to provide oxygen to patients?
A Potassium peroxide K, B. Potassium oxide K,
C. Sodium peroxide Na,O, D. Potassium super oxide K0,

(x) Which of the followings is the Empirical formula of Benzene?
A CH, B cH C. C. i, D. B0,

{xi) The bond formed between atoms due to transfer of electrons from one atom to another is called:
A lonic bond B. Covaient bond
C. Co-ordinate covaient bond D. Hydrcgen bond

{xii} The escape of molecules of a gas through a small hole one after the other is called:

A Diffusion B. Evaporation C. Effusion D. Boiling

For Examiner’s use only:

Total Marks: 12

Marks Obtained: j

—18A 1708 (L) —




Roll No. Answer Sheet No.

Sig. of Candidate: Sig. of Invigilator:

- g ol o) 5 AasS

(12:/,0”/) Jil o 220 1=k

b {J’vg-c‘_u:-’;;LgIJ&’uyu&u’.a.ugp)l_wéyg-(’zéfdﬂwu:f%fw.éu:'%.m;%..{;t,mém‘.;..u;udiub &y

-c‘_/'.}ugﬁifz_dflﬁ Iy :/é.,ul?.;wwc.uf 3l 13 ﬁ J;li”éd;.)
K'nyd//nlfﬁ ([‘12) J:?u}M:fl:

2016 o pfBoB4 S0 o A
Lol (Subrshell) Fmiipuin (shel) JF M LA

1s, 2s, 3s =3 3s, 3p, 3d Z Is, 2s, 2p — 2s5,2p &
?gc.f:/; A £ g o5 S e fr L i

Sies AR o Wty o MOET F
Ce vblL Stk (Triple) Gl ol A e st

K, _ 0, 2 N, H, __i
e Bl 2 100°C o 59°Cius e (-7°C) 25k 55 (Bromine) ¢
L il - oL T oL
0 LT T oo i P Lot T b (Solvent) S (Solute) Fhi A b
{Colloidal solution)Jﬁl’Uf — {True Solution) J};@? i
(Suspension)uﬁf/ - {Homogeneous Mixture) N

Zn0O+ H, > Zn+ 1,0 «;é_uéﬁ_ﬁ;{; (Etement) e it S L

O m zn N Zn0) e H, o

-t {Oxidation Numbers); “detfl Cr 2 K CnO; iy Cn0;

+6 . +3 o +2.0 +2 b +2 1 +6 —— +7 ol 44 __3

e 5t (Breathing Equipments) Tt L L L1 oL () F RS
St Ji1(Oxide) &L T

KO gy o KOy g STy L

KO, jfu/vaife{ - Na,O, 32077 4y 2

S tvsb (Empiricall g ll-ufe Ut izav€ Benzene

3,0, . C.H, 2z CH __ CH, __i
e ekl rli Ae CTransfer J”{uiﬁig/»;ﬁlJ{!Lﬂ}gluywéukl»ﬁﬁgu
ki (Covalent) =oksd Lo Li(lonicykyT -

FLeP = Faddbat W g

bl ffbﬂ;’u_?ﬁﬁljd/l:d/[_,;éi»’bgj{gLd).:u"i:—?.

(Evaporation)u;d/:;gi - (Diffusion)ui‘ﬁf ]
(Boiling)tk! - (Effusion )i 2z

—— 1SA 1708 (L) —

1)
(i)

(vi)

(vii)
(viii)

(ix)

(xif)

A e 12 /J( Ry



v
CHEMISTRY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:

Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer hook. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:
Q.3

SECTION — B (Marks 33)

Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=233)
(i) Define Molecular mass. Find the molecular mass of ¢ 1/, and ', H.OI if atomic mass of
C=12,/ =1and () =16
(i) Write any two differences between ions and Free radicals. Also write an example of each.
(iiiy Write three conclusions drawn by Rutherford from his metal foil experiment.
(iv) Write the electronic configuration of the following elements by distributing electrons in their
sub-shells (s, p, d, f);  a. Al b. S c. M Ne
(V) Define Atomic size. Write the reason of increasing atomic size down the group and decreasing

atomic size from [eft to right in the period of periodic table
{vi} What is covalent bond? Show the formation of covalent bond between atoms in the foliowing

compounds with the help of cross and dot models:
a i, b. [ICN (At Nol =6.N-7,0=81]=1)

(vin) Define Charles's Law. Derive relationship I _constant. Also show this relationship with the help of a graph.
7

(vithy Write any two differences between Crystalline sclids and Amorphous solids. Also give one example of
each.

(Ix) Find the molarity of 1000c  solution if it contains 52 grams of Cu((){7),
(Atomic mass: Cu =30, O=16. H - 1)

{(x} Define Oxidation Number. Find the oxidation number of Boron in /7, 2(); with the help of
oxidation number rules.

(xi) Write a note on Zinc plating by giving chemical equations.
(xii) a. What are Noble Metals? Write any two examples.
b. Write the composition of Aqua Regia.
{xiii) Choose and re-write two of the following reactions that are possible:
a. I, ~2KBr - 2RI - By, b. I, +2KC - 2K -,
c. CL+2KE-52KCT+ 1, d. Br, + 2K -» 2KBr + (U,

(xivi  Define Unsaturated, Saturated and Supersaturated solutions

(xv} Write short note on the following methods of prevention of corrosion:

a. Coating with paint b. Alloying
SECTION — C {Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)

a. Write the postulates of Bohr's Atomic Model. (Diagram is not necessary) (05)

Define lonization energy. With the help of a suitable and clear reason, explain the trend of

lonization energy along the groups and periods. {(1+4)
a. Define Hydrogen bonding. Draw Hydrogen bonding in water. (1+1)
b. A gas was kept in 200c#  container under 2 atm pressure. When it was shifted to 1000¢m”

container its pressure reduced to 0.4 atm. Prove Boyle's law with the help of this data. (03)
c. What is boiling point? Explain the effect of externai pressure on the boiling point of water. (1+4)

Explain with suitable reason that why methanol is soluble but Gasolene is insoluble in water. {03)
b. With the help of neat and clean diagram explain the manufacture of sodium metal from fused

sodium chloride by Down's cell. (07)

—— 18A 1708 (L) —




I- o ) i 5 s

53 pruslpn.= /J, E'{ 2:40 N
4

..J/UUU’ (2)22 ;,.df c__u‘ff.»/ﬂ AZE (1) ulfﬁ fs oo QKJ'?{JW;.:A?’.“&U?L;U!)’ L (roat o
i nlimdoctiz L el l L b(Sheet-Bl2d

(33/:‘2}) ru,.fo

(11x3=33) o2 b F s ploa L7 AN i Lt i A

:Vj/‘?}’@’t),:.ot,_f_ C,H,OH i CH, _‘_[/..é!/‘jd' (Molecular mass) S
(Atomic Mass: (" =12, H =1, O=16)
A el o e WL (Free Radical) Kot 8 A lony T

J‘J(//bday‘w‘a (Metal Foll Expenment);f__ 5,8
e Electronic Configuration ; Se !l’_/f i1 E1ec€rons)J!l U~ Sub-Shell (S,p,d,f);.../b’u__:gu&é'

- Y

W Ne & e — SAl

LU J::u-_—v e /Lv"* sl av&;?’vb{t1_3}6.;;/,lu:,,fﬁdem-u/;ﬂ,ﬂj (Atomic size) ¥ St
4 ’/u/f_uvu L (Dot)=1ist {cross) J1r t"()LVJ'J'L,’L"/ LU ..V..vLJ,f'L_,_‘if;'._w,»’f‘:'ugng@;A’.u(
(ArNoC=6.N=7,0-8H=1) HCN L Co, __h

_Jf uf;,;w;“?/‘ sl gyt —t 1_2:_% constant - .ﬂlf\, (Charles's Law) « Iy - o
_vufJL d..f J‘" SERD .’_anbh e #ﬁ, A.' b U I
LS F CalOH), 52 guzts L /4§ 2r S 1000em’
(At. Mass ('u =40, O=16, H=1)
- J'v‘-‘” el A A T Boron (B) 2 L BO A P A 5.5) Oxidation Number
,u“g_,:_x (.ch Plating) ..J.»«J'uw_u.u_,u.wgu
- )JJV R uuz ey (Noble Metals) ALk 3
_wf‘o_g 5 {(Ge-—TDAqua Regia —

ﬁj/’/fa/p;[ﬂfbft’.-:'ﬁb/Chemical Reactions o A

1, +2KCT- > 2RI+ (L, - I, - 2KBr > 2KF + br, il
B, +2KCT = 2KBr + (1, s Cl + 2K -» 2KCH+ 2

_‘_,:“Ly/"’g/(Solutions) .:,m"-"(Super Saturated)ﬂ.,/;/f »1 (Saturated) . /r « (Unsaturated) mr ol
DAY

Tp«'.'.";)’, "_j'v‘}%f,k bg._.u doua

C“%
"\ﬁ,

B (Alloying) - Bl Sz d [0 H(Coating with paint) -

(204F) prio
(2x10=20) (-quv/./ﬁéuﬂrrt?_éd’dw » U

(05) (e A bt A1) b B AL il
ot S s PRI, ’LJJ*L,)/:")JfCJISJI Su A (!omzatuon energy) G oAty T
(4+1) - - f”‘ai Qb,ﬁ;L . (lonization Energy) J~ix &
(1+1) ‘J Lw RIS //«Luw -V;f.»ﬂfb..xﬁLu L
U0 datms 17 U e 1000em” S o2 ESE A, 2 patm g el 200em’
(03) _L,“,'.:/,L"ufb KJ’);:_ ud data "
(4+1) Sl el J e\ Boiling Point
(03) dr_JIfuJ‘L..JLGasolene Boe i S ~L Methanol-_/ /uv,
(07) el e bt i £ Down's Cell e (NaCT) fiz s ERS - EE

—— 1SA 1708 (L) —

{vil)
{viii)

(ix)

:r‘/-_{ju»

iy

:tb/_‘Uir




1S

Roll No. [ ! ] Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

CHEMISTRY SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

{i} The electronic configuration of an element is Is* . 25 An atom of this element will form an ion
that will have charge:
A +1 B. +2 C. +3 D. -2
(i) The number of Neutrons in an atom ;M is:
A. 10 B. 11 C. 12 D. 9
(i) The atomic radius of an atom as one moves from top to bottom in a group of periodic table.
A Decreases B. Increases
C. First decreases then increases D. Remains same
(iv) Which of the following atoms cbeys duplet rule?
A 0 B. F C. N D. H
V) If temperature of 30dm’ gas is increased from 273K to 546K the volume of it will become:
A. Y’ B. 15dm’ C. 60cdm’ D. 273dm’
(Vi) In which of the following processes the speed of the particles decreases?
A Condensation B. Melting C. Sublimation D. Evaporation

{vii) Alloys are an example of:

A Gas — Liguid solution B. Gas — Solid solution
C. Liguid — Solid solution D. Solid — Solid solution
(viiiy  Which of the following quantities is same for one mole of Hydrogen gas and one molée of water?
A Mass B. Number of atoms
C. Number of molecules D. Number of gram atomic mass

{ix} The oxidation number of Boron (B) in H,B0. is:

A -3 B. +3 C. +1 D +6
(x) Which of the following cells is used in manufacturing of sodium metal?

A Nelson's cell  B. Down's cell C. Fuel cell D. Daniel's cell
(1) Which of the following metals is the least reactive metal?

A Gold B. Sodium C. Potassium D. Calcium
{xii) Which of the following solids is amorphous?

A Table salt B. Glass C. Glucose D. lce

For Examiner’s use only:

Total Marks: 13
Marks Obtained: ’:]
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Time allowed: 2:40 Hours Total Marks Sections B and C: 53

/{{JTL 804457
L=

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33}

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {11 x3=33)
(i Define Inorganic chemistry, Biochemistry and Nuclear chemistry.
(ii) What is the contribution of Mendeleev in classification of elements?
(i) Identify the group and period of the following elements on the basis of their elecironic configuration:
a 'B b. P
(iv) Define covalent bond. Draw the electron cross and dot structure of:
a. CH, b. Co,
(v) a. Water boils at 120°C" in a pressure cooker. Explain with reason.
b. Why temperature of a liquid decreases during evaporation process?
(i) Wiite any three differences between Crystalline and Amorphous substances.
(vii} Define the following terms:
a, Soluticn b. Solvent d. Solute
(vili) A 600cm’ solution contains 0.05 moles of Kifn (2, . Find its molarity.
(ix) a. Cifferentiate oxidizing and reducing agents.
b. Identify oxidizing and reducing agents in the following reactions:
INa+ L = 2NaCl Fe, 0, +30C0 = 2Fe +3C0O,
(%) a, Define Hydrogen Bonding.
b. How do molten ionic compounds and their agueous solutions conduct electricity?
(xi) Write a note on Tin piating supporting it with chemical equations.
(xii) a. Arrange the following in the Order of increasing acidic strength:

HFE, HI . HBr , HCI

What is agua regia? Write its use in Chemistry?
(xii) a. Why Alkali metals are kept under kerosene oil?
b. Complete and balance the following two reactions:

Mg, + Oy, — Ca,,+H,O, —>

(xivi  Write three conclusions drawn by Rutherford from his thin metal foil experiment.
{xv) Which element in each of the following pairs has lower ionization energy? Explain your choice:
a. BorN b Lior Na

SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)

Q.3 a How many moles of each of the following substances are present in:
(i) A balloon filled with 18¢  H, gas. {2.5)
(ii) A block of ice that weighs 50g . (2.5)

b. Define Isotopes. Write the physical properties of different forms of carbon. Also draw the

structure of isotopes of carbon. {1+2.5+1.5)

Q.4 a Define shielding effect. Write its trend in periodic table with suitable reason. (1+2)
b. Choose the elements in the following pairs whose atoms have greater shielding effect: {02)

{i) Be or Mg (i) CorSi

c. Define Boyle’s Law. Ethene gas is kept in 2.5¢m’ container under 1.05 atm pressure. When it

is shifted to another container of 1.25dm’ its pressure increased upto 2.10qm . If temperature

remains constant show that this change is according to Boyle's law. (1+4)

Q.5 a Explain with reason that Methanol readily dissolves in water while Gasolene does not. (1.5+1.5)
b. How is sodium hydroxide manufactured from Brine by Nelson cell? Draw labelled diagram

and write chemical equations. {3+2+2)
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